
isn't

Il simple present to be 3.5

Complete the sentences with the contracted negative form of the verb to be

es  This book ……….. mine.

2  Your tea ………… bad.

3  You …………. a policeman.

4  Jenny and Jade ………… going to work today.

5  I think that Mrs. Taylor …………. a bad teacher.

6  Me and Mary …………. going out this evening.

7  The slot machine ………….. working good at the moment.

8  It …………. Monday today, it’s Tuesday!

Soluzioni:

(1) isn't (2) isn't (3) aren't (4) aren't (5) isn't (6) aren't (7) isn't (8) isn't 
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